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* Bce nonyyeHHble pasamepbl yMEHbLUNTL B 4 pasa.
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« Bce nony4yeHHble pa3mMmepbl YyMEHbLWNTL B 4 pa3sa.
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« Bce nony4yeHHble pa3mMmepbl YyMEHbLWNTL B 4 pa3sa.
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« Bce nony4yeHHble pa3mMmepbl YyMEHbLWNTL B 4 pa3sa.
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« Bce nony4yeHHble pa3mMmepbl YyMEHbLWNTL B 4 pa3sa.




NMnMN2=2-Ct+lr1=2-30,7+4=65,4 c™m

NMMi=bb1=6 cm
EEZ=D,Tn+I'I6P=45,4+4=49,4 cM
MHWS BEpXA B
1 N2
3
M1 ' T2 T1
5 52 Jwhus tanum [t T
K3 I. --3 K1
B3 L
b __o
b1 K4 K2
H2
JInHns HK3a

« Bce nony4yeHHble pa3mMmepbl YyMEHbLWNTL B 4 pa3sa.



